G4-M3-Lesson 30

Divide. Check your solutions by multiplying.
1. 705+2

| decompose 1 hundred

3 5 2 Ri 0 3 5 2
= : as 10 tens. Thereare no
2 E 7 ¢ 5 T X 2
- & other tens to distribute,
i 0 So | keep dividing, this 7 0 4
T time in the tens.
g 5
— 4 . 7 0 4
-"“"i”‘"" Once | divide the 10 tens, there are no
tens remaining. But | must keep + 1
dividing. There are still 5 onés to divide, 7 o 5
2. 62505
i 2 5 @
5i{6, 2 5 0 1, 2 5 0
- g X 5
i 2 i
- i 0§ This time when | divide, there are 6 Z 5 0
3 & ne ones to distribute. 0 ones
- 2 8 divided by 5'is 0 ones. I placeaf
0 @ ™ in the ones place of the quotient
— 0 to show that there are no ones.
0 /
3. 3,220+ 4
8 4 5
413, 2 z o 8 0 5
-3 2 2 tens can't be evenly divided by 4, ! > 4
g 2 _ . . eSSV
_ o so | record 0 tens in the quotient. 2 2 72 @
But | must continue the steps of the !
2 0 algorithm: 0 tens times 4 equals 0
- Z B _ . .
5 tens, Ztens minus 0 tens.is 2. tens.
42 Lesson 30: Selve division problems with a zero in the dividend or with.a zero in the
quotient.
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